AA 2FAP

MA 2222 A3 2 HY (2000~20134)

22 SHRFAFE(RSG) M TPYMRIHSISRP)7E SSO2 A6t Ui =
7R 8RRl +2" BEUMUM MEH, 09d SN DRl HHTR9| 9= M ] 7—.*’—! g2k %’ Ao|Lt,
LHESRE 3|=25]0{ 20139 71K = XI—’—'.“—’S*.?_' S7IHIE LIElE To|ct

AIA 7184 off w2 ek 17 xﬂ“ HLELo] oF3l 3 EAE 2011E7HA] T Qo) EHAQ
o) o2 B} FAIF 2= 093] 11.614 wiuk Eo 2 A tiv] 7.6%, 959%4_ E Zhast
E didEn 20109 R HE 385 o] 2018d o= 09y div] oF 2167 & F=rt ZU18 Aoz AgHt,




Ml AR

(E2) P 8402 $29 (2000~20138) (ol : HE, %)

3305 2,16 899 36 300 7016 10733 654

01 3,222 2,106 851 382 289 6,851 10,253 66.8
02 3,308 2,164 869 383 281 7005 10,687 655
T e T ame e s T we ha e et
041 3,576 2,407 1,025 405 287 7,699 11,851 65.0
054 3,694 2461 1120 415 295 7985 11,904 67.1
064 3,901 2,536 1,163 446 307 8353 12481 669
074 3965 2583 1,138 525 348 8559 13,161 65.0
08 3,968 2,348 1,088 491 315 8209 12573 65.3
oo 3725 2166 932 = 454 286 7,563 1614 651
104 3,660 2,126 947 450 293 7476 11726 63.8
ME 3800 2,254 1,011 473 301 7840 12285 638
12 3986 2423 1,087 505 35 8316 13089 637
13d 4199 2,590 1,154 540 329 8,812 13,771 64.0
 SEASTIS(08~3L) 11 2 12 19 08 14 18

= Z 1 SBR=styrene—butadiene rubber, BR=polybutadiene rubber, EPDM=ethylene-propylene diene rubber, NBR=nitrile
rubber, CR=polychioroprene rubber
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